1 &
h
.‘F
a5 '
\{ 7500 “V\\\
1190
35 1103 52
FiEEAZ L OBE 6mm FiEEAZ L OBE 6mm
o
o 4R 1
S A%——-—Eﬂ{/ O£
@\ e
S c\n}L 3 3 g S
C
(@]
[e@]
I~
g,
. 1\ ob
\ \ )‘I/
3 “obh@” ZEE
(@»]
O L
R RolNod
0500

BN (1720

Bafl. &H< 08
) RROKRESHSETETT,

(1) BRARINIROLY. FELEETIILAHYET,

BIEH: VY 9-5E. BRFREEBVET,
Uy F-g (T-ME8) LG (LH) vy -Z% CBALLEE W,
(Ky 7ty FB64mm. &ESOmm) )
TEOBAE. BRI -y VY% TBALELO,

—

(A BHBR (1/8)

H1600

B 1190 (AR

KFTHO5248* 1

—l

O Bo6

OFRFEN (1/8)

NBFHAR (1/8)

5% LR ® B (mm) # B & z
1 AR 0100x50%x12.3 STKR400 HENKZE (ThERdo 2
2 b dlsd 0100x50x12.3 STKR400 ENRRE (FhERD- )
3 Ali%ey 7 t1.6 SGH HENKZE (ThERH- 2D
4 AER (R 50x 120 AB063S BERBIEARE
5 AR GED 50x 120 ABOB3S BRBEORE
6 MEER 25x60 AB063S BRBILEORE
7 B < LER t3.0 7 I BERBRAN -
8 v - F - IJAbT— -
9 fin n- 12 A1100P 2E
10 Rixvy 7 $ 16/ 40y -
11 vy §-§t LGy -X - J- 8
12 EERATL-H 12 ATYUA -
13 SEEMTL - b t2 AFVLA -
14 EYYRK 6 SPHC HERKZE (ThERH- )
15 [P 6 SPHC ERERZE (ThERH- )
16 kY b $12 SGD BREH - &
17 gy 4x20 ATYUA -
18 Eg 12 X -
19 IZED) t3.2 SGH HERKREE (ThBERH- &)
20 B b M10x75 4.618% BREH - &
21 ¥y M5x 10 ATV A -
22 " M4x 10 ATYUA -
23 EHEP2Y MBx 15 AFYLA -
24 F7A by N— H52 ThWISANAL -
25 it b M10x 125 4.618% BRIEH - &
26 EIYRABE t13.5 SPHC HENKRZE (MBS %)
27 HHLLI - BAFHM -
28 AL b M8x 20 4.618% BREH- &
29 ifAEE t3.2 SGH B & +HHENRNEE
30 B b M8x 115 4.618% BRidEgn - &
31| - BERA t1.2 SGHC Ffs- & +HIENREE

SREHN < LRFE BERMT
vy 4§ -35MEELG (LH)




